Piaget Stations

Station 1: Take one of the cups filled with water and pour it into the tall
beaker. How would a 3 year old answer the following question:

Which glass has more water?

Station 2: How would a 3 year old answer the following question:

Which row has more checkers?

Station 3: Take a look at both sides of the cereal box. After looking at both
sides, predict what the other person is seeing on their side if you were
three years old.

Station 4: The two sticks are aligned equally — move one stick a few inches
to the right. How would a 3 year old answer the following question:

Are the sticks the same size? If nhot, which one is longer?

Station 5: Take one of the balls of play-doh and flatten it out.

Which of the play-doh’s is larger? How would a 3 year old answer?




Materials Needed
e short, wide beaker
e tall, skinny beaker
e 10 checkers
e cereal box
e two popsicle sticks
e play dough



